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     SECTION-A 

1. Find HCF of 196 and 38220 using Euclid’s divisionAlgorithm.  ቂ૛ ૚
૛
ቃ 

Ans. 38220 > 196, we apply the division lemma to 38220 and 196, to get  

 38220 = 196 × 195 + 0 

 The remainder now becomes zero, so our procedure stops.  

 Since the divisor at this stage is 196. So the HCF of 38220 and 196 is 196. 

2. If HCF (306, 657) = 9 then find the LCM (306, 657).    ቂ૛ ૚
૛
ቃ 

Ans. We know that  

,ܽ) ܯܥܮ  ܾ) ,ܽ) ܨܥܪ× ܾ) = ܽ × ܾ 

 ⟹ (ܾ,ܽ) ܯܥܮ = ௔×௕
ு஼ி(௔,௕)

 

 ⟹ ,306) ܯܥܮ 657) = ଷ଴଺×଺ହ଻
ଽ

 

 ⟹ ,306)ܯܥܮ 657) = 22338. 

3. Solve the following pair of Linear equation     ቂ૛ ૚
૛
ቃ 

ݏ   − ݐ = 3 

ݏ  
3ൗ + ݐ

2ൗ = 6 

Ans. Given pair of linear equations 

ݏ   − ݐ = 3        ……………(i) 

  ௦
ଷ
− ௧

ଶ
= 6        …………….(ii) 

 From equation (i) , we get 

ݏ  = ݐ + 3         ……………(iii) 

 Substituting this value s in equation (ii), we get 

 ௧ାଷ
ଷ

+ ௧
ଶ

= 6 

 ⟹ ݐ)2 + 3) + ݐ3 = 36 

 ⟹ ݐ5 + 6 = 36 ⟹ ݐ     = 6. 
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 Substituting the value t in equation (iii), we get 

ݏ    + 6 + 3 = 9 

 Hence,  ݏ = 9, ݐ = 6. 

4. Find the roots of quadratic ૟࢞૛ − ࢞ − ૛ = ૙.     ቂ૛ ૚
૛
ቃ 

Ans. 6ݔଶ − ݔ − 2 = 0 

 By spitting the middle term – ݔas −4 ݔ +  .ݔ3

ଶݔ6  − ݔ4 + ݔ3 − 2 = 0 

ݔ3)ݔ2  − 2) + ݔ3)1 − 2) = 0 

ݔ3)  − ݔ2)(2 + 1) = 0 

ݔ3  − 2 = ݔ2   0 + 1 = 0 

ݔ3  = ݔ2    2 = −1 

ݔ  = ଶ
ଷ
ݔ     = ିଵ

ଶ
 

5. A ladder is placed against a wall such that its foot is at a distance of 2.5 m from 
the wall and its top reaches a window 6 mabove the ground. Find the height 
(length) of the ladder.        ቂ૛ ૚

૛
ቃ 

Ans. Let’s assume that AB is a ladder and CA is a wall. The window is on a point A. 

  

 

 

 

  

 

In figure, BC = 2.5 m, CA = 6m 

 In right ∆ܥܤܣ, 

ଶܤܣ      =  ଶܣܥ+ଶܥܤ

= ଶܤܣ      (2.5)ଶ + (6)ଶ 
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ଶܤܣ      = 6.25 + 36 = 42.25. 

 ⟹ =  ܤܣ 6.5 ݉ 

 Hence, length of the ladder = 6.5m 

6. Find the point on ࢞ −axis which is equidistant from (૛,−૞) ࢊ࢔ࢇ (−૛,ૢ). ቂ૛ ૚
૛
ቃ 

Ans. Let the coordinates of 2−)ܤ ݀݊ܽ (5−,2)ܣ, 9) are given points. 

 and ܲ(ݔ, 0) be the required point on the ݔ −axis such that  

 PA = PB 

ܣܲ  = ඥ(2 − ଶ(ݔ + (−5− 0)ଶ 

  = √4 + ଶݔ − ݔ4 + 25 

  = ଶݔ√ − ݔ4 + 29 

 and ܲܤ = ඥ(−2− ଶ(ݔ + (9− 0)ଶ  

  = √4 + ଶݔ + ݔ4 + 81 

  = ଶݔ√ + ݔ4 + 85 

 It is given that PA = PB 

 ⟹ ଶݔ√           − ݔ4 + 29 = ଶݔ√ + ݔ4 + 85 

 ⟹ ଶݔ           − ݔ4 + 29 = ଶݔ + ݔ4 + 85 

 ⟹ ݔ4−         + 29 = ݔ4 + 85 

 ⟹ ݔ4−         − ݔ4 = 85− 29 

 ⟹ ݔ8−          = 56 

 ⟹ ݔ           = −7 

 Hence, point on ݔ − ݏ݅ݔܽ = −7 

 Therefore, the point equidistant from the given points is (-7, 0). 

7. If tangents PA and PB from a point P to a circle with centre O are inclined to 
each other at angle ૡ૙૙, then find the value of ∠࡭ࡻࡼ.    ቂ૛ ૚

૛
ቃ 

Ans. From the fig., we have 
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ܱܲܣ∆  ≅ ∵)   ܲܤܱ∆  (݁ܿ݊݁ݑݎ݃݊݋ܿ ܵܵܵ ݕܤ

 

  

 

 

 ⟹ ܣܱܲ∠ = ܤܱܲ∠ = ଵ
ଶ
 (i)..………………………    ܤܱܣ∠

 We know that  

ܤܱܣ∠   + ܤܲܣ∠ = 180଴ 

 ⟹ ܤܱܣ∠   + 80଴ = 180଴  

 ⟹ ܤܱܣ∠   = 180଴ − 80଴ = 100଴    ………………………….(ii) 

 From (i) and (ii), we get.,  

ܣܱܲ∠   = ଵ
ଶ

× 100 = 50଴ 

 Hence, ∠ܱܲܣ = 50଴. 

8. Construct a triangle with sides 5 cm, 6 cm, 7 cm amd then another triangle 
whose sides are ૠ

૞
 of the corresponding sides of first triangle.  ቂ૛ ૚

૛
ቃ 

Ans. We are given the sides of triangle 5 cm, 6 cm and 7 cm and we are required to construct 
another triangle whose sides are  ଻

ହ
  of the corresponding sides of first triangle. 

 Steps of construction: 

 (i) Construct a triangle ABC in which AB = 5 cm, BC = 6 cm and CA =7cm. 

 (ii) Draw any ray BQ making an acute angle with BC on the side opposite to the 
vertex A. 

 

 

 

 

 

 



CLASS – 10th (March 2018)                                                SERIES-B                                                        
CAREER ACADEMY,NAHAN                                                    MATHEMATICS  

CAREER ACADEMY, NAHAN. MAIN CO-ORDINATOR Er. MANOJ RATHI PH: 226399 (O), 9418096191 (M) 
 
 

(iii) Marks 7 points (the greater of 7 and 5 in 7/5) ܤଵ,ܤଶ,ܤଷ,ܤସ,ܤହ,ܤ଺ ܽ݊݀ ܤ଻ So 
that  ܤܤଵ = ଶܤଵܤ = ଷܤଶܤ = ସܤଷܤ = ହܤସܤ = ଺ܤହܤ =  .଻ܤ଺ܤ

(iv) Join ܤହܥ. 

(v) Through ܤ଻, draw ܤ଻ܤ||′ܥହܥ to intersect BC at C’. 

(vi) Through C’, draw C’A’|| CA to intersect BA at A’ Now ∆ܥܤ′ܣ′ is the required 
triangle whose sides are 7/5 times the corresponding sides of the ∆ܥܤܣ. 

Justification 

 (By AA similarity criteria)    ′ܥܤ′ܣ~ܥܤܣ∆

 Therefore, ஻஺
ᇲ

஻஺
= ஻஼ᇲ

஻஼
= ஺ᇲ஼ᇲ

஺஼
 

 But ஻஼ᇲ

஻஼
= ଻

ହ
 ቀ∵ ஻஻ళ

஻஻ఱ
= ஻஼ᇲ

஻஼
= ଻

ହ
 ቁ 

 So,  ஻஺ᇲ

஻஺
= ஻஼ᇲ

஻஼
= ஺ᇲ஼ᇲ

஺஼
= ଻

ହ
  

9. Gopi buys a fish from a shop. If there are 5 male and 8 female fishes in the tank what 
will  be probability of a fish taken out randomly to be a male fish?  ቂ૛ ૚

૛
ቃ 

Ans. Number of male fish = 5 

 Number of female fish  =  8 

 Then total number of fishes in the tank =5+8=13 

 ∴  Probability of getting  a male fish = ୮୭ୱୱ୧ୠ୪ୣ ୭୳୲ୡ୭୫ୣୱ
୘୭୲ୟ୪ ୭୳୲ୡ୭୫ୣୱ

= ହ
ଵଷ

. 

10. One card is drawn from a well shuffled deck of 52 cards. Find the probability of 
getting a king of red colour.        ቂ૛ ૚

૛
ቃ 

Ans. There are two red kings, (one each of diamond and heart) 

 So, number of favourable outsomes = 2 

 ∴ Probability off getting king of red colour = ଶ
ହଶ

= ଵ
ଶ଺

 

     SECTION-B 

11. Divide ൫૜࢞૝ + ૞࢞૜ − ૠ࢞૛ + ૛࢞+ ૛൯ ࢟࢈ ൫࢞૛ + ૜࢞+ ૚൯.    ቂ૜ ૚
૛
ቃ 
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Ans. Here, dividend and divisor are in the standard form. 

  

 

 

 

 

 

 

 Since, remainder is zero, hence ݔଶ + ݔ3 + 1 is a factor of 3ݔସ + ଷݔ5 − ଶݔ7 + ݔ2 + 2. 

12. Solve the pair of equations graphically:      ቂ૜ ૚
૛
ቃ 

  ࢞ + ૜࢟ = ૟ 

  ૛࢞ − ૜࢟ = ૚૛ 

Ans. Graphically representation: 

 From equation (i), we get 

 

ݔ  + 6−  ݕ3

 

 

 

 

 

 

 

 

 

  

 0 3 6 ݔ
 2 1 0 ݕ
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 From equation (ii), we get 

ݔ2  − ݕ3 = 12 

 ⟹ ݔ    = ଵଶାଷ௬
ଶ

   

 From the graph we find that lines are intersecting lines and have unique solution. 

 Hence, ݔ = ݕ,6 = 0. 

13. How many multiples of 4 lie between 10 and 250?    ቂ૜ ૚
૛
ቃ 

Ans. The multiples of 4 between 10 and 250 are 12, 16, 20, 24 ………………….., 248. 

 So, the above sequence from an A.P. 

 Let these number = n. 

 ܽଵ = 12,         

  ݀ = ܽଶ − ܽଵ 

  = 16 − 12 = 4 

  ܽ௡ = 248. 

 We know that  

  ܽ௡ = ܽ + (݊ − 1)݀ 

 ⟹ 248 = 12 + (݊ − 1)4 

 ⟹ 248 = 12 + 4݊ − 4 

 ⟹ 4݊ = 248− 8 

 ⟹ ݊ = ଶସ଴
ସ

 

 ⟹ ݊ = 60 

 Hence, there are 60 terms lies multiple of 4 betwene 10 and 250. 

14. A ladder 10 m long reaches a window 8m above the ground. Find the distance 
of the foot of ladder from base of wall.      ቂ૜ ૚

૛
ቃ 

Ans. Length of the ladder = 10 m 

 The height between a window and ground = 8 m 

 

 0 3 6 ݔ
 4− 2− 0 ݕ
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 Let’s assume the distance between foot of the ladder and base of the ball = ݉ݔ 

  

 

 

 

 

  

In right ∆ܥܤܣ, 

ଶ(ܤܣ)   = ଶ(ܥܤ) +  ଶ (Pythagoras Theorem)(ܥܣ)

 ⟹ (10)ଶ = (8)ଶ +  ଶ(ݔ)

 ⟹ ଶ(ݔ) = (10)ଶ − (8)ଶ 

 ⟹ ଶݔ = 100− 64 = 36 

 ⟹ ݔ = 6 

 Hence, the distance between foot of the ladder and base of the wall = 6m 

15. Prove that : (ࣂ ࢉࢋ࢙࢕ࢉ − ܜܗ܋ ૛(ࣂ = ૚ିܛܗ܋ ࣂ
૚ାܛܗ܋ ࣂ

.      ቂ૜ ૚
૛
ቃ 

Ans. ܪ.ܮ. ܵ = ߠ ܿ݁ݏ݋ܿ) − cotߠ)ଶ 

 = ቀ ଵ
ୱ୧୬ ఏ

− ୡ୭ୱఏ
ୱ୧୬ఏ

ቁ
ଶ

= ቀଵିୡ୭ୱ ఏ
ୱ୧୬ఏ

ቁ
ଶ

 

 =  (ଵିୡ୭ୱఏ)మ

௦௜௡మఏ
= (ଵିୡ୭ୱ ఏ)మ

ଵି௖௢௦మఏ
      [∴ ߠଶ݊݅ݏ = 1 −  [ߠଶݏ݋ܿ

 = (ଵିୡ୭ୱఏ)మ

(ଵ)మି(ୡ୭ୱఏ)మ
 

 = (ଵିୡ୭ୱఏ)(ଵିୡ୭ୱ ఏ)
(ଵିୡ୭ୱఏ)(ଵାୡ୭ୱ ఏ)

     [∴ ܽଶ − ܾଶ = [(ܽ − ܾ)(ܽ + ܾ)] 

 = ଵିୡ୭ୱఏ
ଵାୡ୭ୱఏ

= .ܪ.ܴ ܵ. 

 ∴ L.H.S = R.H.S. 

16. Prove that: ܖ܉ܜ  ૝ૡ૙ ܖ܉ܜ  ૛૜૙ ܖ܉ܜ  ૝૛૙ ܖ܉ܜ  ૟ૠ૙ = ૚.    ቂ૜ ૚
૛
ቃ 

Ans. ܪ.ܮ. ܵ. = tan  48଴ tan  23଴ tan  42଴ tan  67଴ 
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 ⟹ tan  48଴ tan  23଴ tan( 90଴ − 48଴) tan( 90଴ − 23଴) 

 ⟹ tan  48଴ tan  23଴ cot  48଴ cot  23଴ 

 ⟹ tan  48଴ tan  23଴ cot  48଴ cot 23଴  

 ⟹ tan  48଴ tan  23଴ ଵ
୲ୟ୬ ସ଼బ

ଵ
୲ୟ୬ ଶଷబ

= 1 

 Hence, L.H.S = R.H.S. 

17. Find the area of a sector of a circle with radius 6 cm. If angle of the sector is 
૟૙૙.            ቂ૜ ૚

૛
ቃ 

Ans. Radius of a circle (r) = 6 cm 

 Angle of the sector (ߠ) = 60଴ 

 Area of the sector = ఏ
ଷ଺଴

×  ଶݎߨ

  = ଺଴
ଷ଺଴

× ߨ × 6 × 6 = ଵଷଶ
଻
ܿ݉ଶ.        

18. OACB is a quadrant of a circle with centre O and radius 3.5 cm. If OD = 2 cm 
then find the area of quadrant and area of shaded region.   ቂ૜ ૚

૛
ቃ 

 

 

 

 

Ans. The radius of a quadrant OACB 3.5 cm and OD= 2 cm 

 The area of the quadrant OACB 

                                       =
1
4 ×  ଶݎߨ

   = ଵ
ସ

× ଶଶ
଻

× ቀ଻
ଶ
ቁ
ଶ
ܿ݉ଶ 

   = 1
4 × 22

7 × 49
4  ܿ݉2 

   = ଵଵ×଻
଼
ܿ݉2 

   = ଻଻
଼
ܿ݉2 

  is a right angled triangle ܦܤܱ∆ 
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 Here, ܱܤ = ଻
ଶ

ܦܱ ݀݊ܽ ݉ܿ  = 2 ܿ݉ 

 The area of ∆ܱܦܤ = ଵ
ଶ

ܤܱ   ×  ܦܱ

   = ଵ
ଶ

× ଻
ଶ

× 2 ܿ݉ଶ 

  = ଻
 ଶ

 ܿ݉ଶ 

 Hence, the area of the shaded region = The area of quadrant OACB – The area of a 
ܦܤܱ∆ = ଻଻

଼
 ܿ݉ଶ − ଻

ଶ
 ܿ݉ଶ 

  = ଻଻ିଶ଼
଼

 ܿ݉ଶ = ସଽ
଼

 ܿ݉ଶ. 

૚ૢ. Find the area of a triangle whose vertices are (−૞,−૚), (૜,−૞) and (૞,૛). ቂ૜ ૚
૛
ቃ  

Ans. Let vertices of a given triangle ABC are 5) ܥ ݀݊ܽ(5−,3)ܤ,(1−,5−)ܣ, 2). 

 Here,     ݔଵ = ଵݕ ݀݊ܽ 5 = −1 

ଶݔ                 = ଶݕ ݀݊ܽ 3 = −5 

ଷݔ                 = ଷݕ ݀݊ܽ 5 = 2 

 We Know that area of ∆ܥܤܣ = ଵ
ଶ

ଶݕ)ଵݔ] − (ଷݕ + ଷݕ)ଶݔ − (ଵݕ + ଵݕ)ଷݔ −   [(ଶݕ

 = ଵ
ଶ

[−5(−5− 2) + 3(2 − (−1)) + 5(−1 − (−5))] 

 = ଵ
ଶ

[−5 × −7 + 3 × 3 + 5 × 4] 

 = ଵ
ଶ

[35 + 9 + 20] 

 = ଵ
ଶ

× 64 = 32 square unit. 

20. Find the co-ordinates of the points which divides the line segment 
joining ࡭(−૛,૛) and B (૛,ૡ) into four equal parts.     ቂ૜ ૚

૛
ቃ 

Ans. Let the points P, Q and R divides the line segment 2−)ܣ, 2) and 2) ܤ, 8) into four equal 
parts. 

 

 

 ∴ ܲܣ    = ܲܳ = ܴܳ =  ܤܴ

 Now Q is mid point of AB. 
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 By mid-point formula the co-ordinates of the point Q are ቀିଶାଶ
ଶ

, ଶା଼
ଶ
ቁ = (0.5) 

 R is mid-point of QB. 

 Then the coordinates of R are ቀ଴ାଶ
ଶ

, ହା଼
ଶ
ቁ = ቀ1, ଵଷ

ଶ
ቁ 

 P is mid-point of AQ. 

 Then, the coordinates of P are 

 ቀିଶା଴
ଶ

, ଶାହ
ଶ
ቁ = ቀ−1, ଻

ଶ
ቁ 

 Hence, the required points are ܲ ቀ−1, ଻
ଶ
ቁ, ܳ(0, 5) and R ቀ1, ଵଷ

ଶ
ቁ. 

     SECTION-C    

21. An express train takes one hour less than a passenger train to travel 132 m between 
Mysore and Bangalore. If speed of express train is 11 km/h more than the passenger 
train then find the average speed of both trains.     [5] 

Ans. Let the average speed of the passenger train = ݔ ݇݉/ℎ 

 And the average speed of the express train = ݕ ݇݉/ℎ 

 Distance between mysore and Banagalore = 132 km. 

 Time taken by passenger train to travel a distance 132 km = ଵଷଶ
௫
ℎݏݎ. 

 Time taken by express train to travel a distance 132 km = ଵଷଶ
௫ାଵଵ

ℎݏݎ. 

 According to question,  ଵଷଶ
௫
− ଵଷଶ

௫ାଵଵ
= 1 

 ⟹ 132 ቂଵ
௫
− ଵ

௫ାଵଵ
ቃ = 1 

 ⟹ 132 ቂ௫ାଵଵି௫
௫(௫ାଵଵ)

ቃ = 1 

 ⟹      ଵଵ
௫మାଵଵ௫

= ଵ
ଵଷଶ

 

 ⟹ ଶݔ  + ݔ11 = 11 × 132 

 ⟹ ଶݔ  + ݔ11 − 1452 = 0   

 which is a quadratic equation in ݔ variable  

 Here, ܽ = 1,ܾ = 11, ܿ = −1452 

ܦ  = ܾଶ − 4ܽܿ 
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  = (11)ଶ − 4 × 1 × (−1452) 

  = 121 + 5808 = 5929 

 Now, ݔ = ି௕±√஽
ଶ௔

 

 = ିଵଵ±√ହଽଶଽ
ଶ×ଵ

 

 = ିଵଵ±଻଻
ଶ

 

 = ଺଺
ଶ

, ି଼଼
ଶ

 

 = 33,−44 

 But speed of the train can’t be negative. 

 So, ݔ = 33 

 Hence, average speed of the passengers train = 33 ݇݉/ℎ 

 And average speed of the express train = (33 + 1) ݇݉ 

              = 44 ݇݉/ℎ  

22. In a right triangle, the square of the hypotenuse is kequal to the sum of the squares of 
the other two sides.         [5] 

Ans. Given 

 A right angled ∆ܥܤܣ which is right angled at B. 

 To prove  

ଶܥܣ  = ଶܤܣ +  ଶܥܤ

 Construction 

 We draw, ܦܤ ⊥  ܥܣ

 Proof 

 ܥܤܣ∆~ܤܦܣ∆ 

 (∴ Perpendicular is drawn from the vertex of the right angle of right triangle to the 
hypotenuse then triangle on both side of the perpendicular are similar to whole 
triangle) 

 ⟹ ஺஽
஺஻

= ஺஻
஺஼

   [∵  sides are proportional] 

 Or  ܤܣ × ܤܣ = ܦܣ ×  ܥܣ



CLASS – 10th (March 2018)                                                SERIES-B                                                        
CAREER ACADEMY,NAHAN                                                    MATHEMATICS  

CAREER ACADEMY, NAHAN. MAIN CO-ORDINATOR Er. MANOJ RATHI PH: 226399 (O), 9418096191 (M) 
 
 

 Or ܤܣଶ = ܦܣ ×  (i).…………                                                                         ܥܣ

 Also, ∆ܣܤܥ∆~ܤܦܥ 

 Therefore, ஼஽
஻஼

= ஻஼
஼஺

  [∵  sides are proportional] 

 Or ܥܤ × ܥܤ = ܦܥ ×  ܣܥ

 Or ܥܤଶ = ܦܥ ×  (ii)………………           ܣܥ

 Now, adding (i) and (ii), we get 

ଶܤܣ  = ଶܥܤ = ܦܣ × ܥܣ + ܦܥ ×  ܥܣ

   = ܦܣ]ܥܣ +  [ܦܥ

   = ܥܣ × ܥܣ =   .ଶܥܣ

23. As observed from 75 m high light house from the sea level, the angle of depression of 
two ships are ૜૙૙ ࢊ࢔ࢇ ૝૞૙. If one ship is exactly behind the other on the same side of 
the lighthouse find the distance between the two ships.    [5] 

Ans. Let the distance between the ships =  ݉ ݔ 

 Height of the light house (AB) = 75 m, 

 D and C are the positions of two ships. 

ܤܦܣ∠  = 30଴   (Given) 

ܤܥܣ∠  = 45଴   (Given) 

  

 

 

 

 

 

 

 In right ∆ܤܦܣ, 

  tan 30଴ = ஺஻
஽஻

 

 ⟹      ଵ
√ଷ

= ଻ହ
஽஻
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 ⟹ ܤܦ         = (75 × ඥ3)        ………………(i) 

 In right ∆ܥܤܣ, 

  tan 45଴ = ஺஻
஻஼

 

 ⟹         1 = ଻ହ
஻஼

 

 ⟹ ܥܤ         = 75݉       …………………(ii) 

 Now the distance between the ships 

ݔ  = ܤܦ − ܥܤ = 75√3 − 75 = 75൫√3 − 1൯݉. 

24. How many silver coins, 1.75 cm in diameter and thickness of 2 mm must be melted to 
form a cuboid of dimensions of ૞.૞ ࢓ࢉ × ૚૙࢓ࢉ× ૜.૞ [5]   ?࢓ࢉ 

Ans. Given 

 Diameter of the silver coin = 1.75 cm 

 Radius of the silver coin (r) = ଵ.଻ହ
ଶ
ܿ݉ 

 Thickness of the silver coin = 2 mm 

            = 0.2 cm 

 Dimensions of cuboid = 5.5 ܿ݉ × 10ܿ݉ × 3.5 ܿ݉ 

 Let the numbers of coin =  ݊ 

 We know that  

 Volume of n coins = Volume of the cuboid  

 ݊ × ଶℎݎߨ = ݈ × ܾ × ℎ 

 ⟹    ݊ ଶଶ
଻

× ቀଵ.଻ହ
ଶ
ቁ
ଶ

× (0.2) = 5.5 × 10 × 3.5 

 ⟹    ݊ × ଶଶ
଻

× ଻
଻

× ଻
଼

× 2 = 55 × 35 

 ⟹    ݊ = ହହ×ଷହ×ଵ଺
଻×ଵଵ

 

 ⟹    ݊ = 5 × 5 × 16 = 400. 

 The  number of coins = 400. 

25. The distribution below gives the weights of 30 students of a class. Find the median 
weight of the students.        [5] 
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Weight (in kg) 40-45 45-50 50-55 55-60 60-65 65-70 70-75 
Number of students 2 3 8 6 6 3 2 

Ans.  

Weight (in kg) No. of student  
 (૚ࢌ)

Cumulative frequency 
.ࢌ.ࢉ) ) 

40-45 
45-50 
50-55 
55-60 
60-65 
65-70 
70-75 

2 
3 
8 
6 
6 
3 
2 

2 
2+3=5 
5+8=13 
13+6=19 
19+6=25 
25+3=28 
28+2=30 

 

  Here, we have, n=30 

 So, ௡
ଶ

= 15, therefore the median class is 55 − 60. 

 Here ݈ = 55,݊ = 30, ݂ = 6, ܿ. ݂. = 13 ܽ݊݀ ℎ = 5 

 Using the formula of median, 

 Median = ݈ + ൤
೙
మି௖.௙.

௙
൨× ℎ 

  = 55 + ቂଵହିଵଷ
଺

ቃ × 5 = 55 + ହ
ଷ

= 55 + 1.67 = 56.67 ݇݃ 

 Hence, median weight of the students = 56.67 kg. 


